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\ouy — YU — Uy = Xt, o<x<T,t>0
u(e,ty=-, u(m,t)=-

Youp = Yuy = x't, o<x <), t>o
ue(e, ) =t, u(\,t)=\V+t

V. Upt + Usyxx = XE, cSXST,t2>e

ux(°/ t) =09 I/lx(ﬂ, t) =\+1, uxxx(°r t) =0 uxxx(nr t) =-e
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Yoty = Sty — Uy + U =Xt o< x <Y, t>0
ux,e)=x,  uxle, ) =1, ux(\t)=-

O. Upp— St — Uy + U = X, o<x <\, t>o
ulx,°)=x, ux,°)=x", u(,t)=t, u()t)=)
Zo Ut + U — YUpxpt + YU = xt, o<x <\, t>0

u(xl o) =X, ut(x/ o) =9,
u(C,ty=t, u(\t)=-, U, t)=c, (), t)=t
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Y. Upp — Uyy + Uy + U = XE, —-M<Xx<T,t>e
u(-m,t) =u(m, t)+t, u(-m,t)=uy(m,t)—t
A Upp + Uy — Uyt + SU = X, N<x<\,t>e
u(=\tH)=ult)+t, u(-\)t)=u(t) -t
U (V1) = Uy (L E) +Y, U (), 1) = U (M, 8)
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A Up—Upy + Sy +u=e%, “\<x<\, t>o
u(x, °) =X,
u(=-\,t)y=et+u(\t), u(-)t)=u,()t)
Vo Upp — Uy — Uyt + U = 66X, —T<X< T, t>0
u(x,°)=e%, ux,°)=e,
u(-m, t)y=t+u(m,t), ux(—m,1t)=uy(nt)+\




